Question Number One

1- because some twins have less one........ others.

2- stimuli

3-itis tempting ......... language

4- He or she quickly learns to respond to ... sounds, then the baby starts to try out
...sounds.

5-this=some ........ language.
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B- 1- to hear his song

2- swift/ while swift the sunny moments slid.

Question Number Two

A- 1- pensions 2- track record 3- dietary 4- makes a difference
C- 1- dominate 2- competent

A- 1- didn’t they 2- will be offered
B- 1- is more popular than maths and science
2- if there is a connection... ......
3- People believe that doing regular exercise reduces the risks .....diseases

Question Number Four:

A-1- if Sami had applied....... , he could have gotten it. e @
2- I wish I hadn’t lived dradlBy (Ao

B- showing reason or cause

Question Number Five:
A- 1- believes/believed 2- Biology 3- as important as 4- But
B-

1. England and Turkey have the most compulsory education...s jba adad JSYI Lgé | yilaih g US 5 -]
2- Jordan and Japan have the least compulsory schooling. .cs sbat aslad ¥ Lead Ll 5 (0 ,¥) 2

Or

1- Turkey has more compulsory education than Jordan.. 2% (e SISV (5 jlad ailai Lgé LS 523

2- England has less compulsory education than Japan.. sl (s J8 (5 sbiad ailai L ) jilai 4



